Total No. of Questions: 5] SEAT No. :

P2602 [Total No. of Pages: 4
[4704] Ext. - 11
ML.A. (Part - I) (External)
ECONOMICS
Micro Economic Analysis| & |1
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :-
1) Attempt all questions.

2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.
4) Neat diagrams must be drawn wherever necessary.

Q1) State and explain the basic Economic problems. [20]
OR

Explain prof samuelson's revealed preference theory of demand.

Q2) Explain the Edgeworth box dipiction of competitive market exchange

equilibrium. [20]
OR

What is Elasticity of demand? Explain the price, Income and cross elasticity

of demand.

Q3) What is monopolistic competition? Explain How the price and output is
determined in group equilibrium in long run. [20]

OR
Explain the Baumol's sales revenue maximization model of the firm.

Q4) What is socia welfare? Explain the Bergenson samuelson's concept of socia
welfare function. [20]

OR
Explain the marginal productivity theory of distribution.

PTO.



Q5) Write notes on any four of the following :

a)
b)
C)
d)
€)
f)

Ceiling price

Slutusky's Income and substitution effect.

Economist concept of cost.
Excess capacity.
Cartel

Euler's Theorem.

2

[4704] Ext. - 11 2

[20]



Total No. of Questions: 5]

P2602
[4704] Ext. - 11
ML.A. (Part - I) (External)
ECONOMICS
Micro Economic Analysis| & |1
(2013 Pattern)

(TSt TUTAR)

gz . 3 ard| [ 7gpor 7or: 100
T :— 1)  @d gvT qislav smavad HiEd.

2) IweimSTer ik quf gor FIifaara.

3) I AWHI T geyg HEATHIA.

4) @GSt g FAST TvT TiFHT TgTal.

gy7l) HeYA 3ATioeR THET I @ WAF TIY AT [20]
foRan
. ISR Il RO Yehe UEd! g ¥ .

gy72) U@ UEeAT W Wit aRIdIe e Wqe T . [20]
TeRar
ATUT = ST ferehdT TSt h1d ? HRTON=( fohAd, Scas o ©deh oiaieiehdl TUE
.

gy73) UchaRIgTh Tl TEUN 1T ? TUE THATCATS! dreehTel fhHd o SeateAfageiidt
HIM TR S o A, [20]

fema
IATEAEED A Tt “TarshiuTdt wgmitertnr’ afaw Tag .



Ty74)  WHSH w0 U HE ? SET-H A Tl AT —HhedTul el

HeheUAT TY .
TeRar

gy75) & fermr. (SoreETd = mw)
ar) wute fhwa (Celling price)
q) Tolewh! ATET IO I TITEAT TR
®)  AAVTEATAT SHRIUIGA S0 HeheudT
g) Afaiwh ScaTg-erHar
7) frfEa (Cartel)
w) Fgod THT

363838
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[20]
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Total No. of Questions : 5] SEAT No. -

P2603 [Total No. of Pages : 4
[4704] Ext. - 12
ML.A. (Part - I) (External)
ECONOMICS
Public Economics | & 11
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :-

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Answers should be precised and to the point.

Q1) Explain the role of Government in organised society. [20]
OR

Explain the contribution of samuelson in demand revealing schemes for
public goods.

Q2) Explain the changes in structure and Growth of public expenditure. [20]
OR
Explain the ability to pay approach of Taxation.

Q3) Explain the classical approach of public debt. [20]
OR
What is Budget? Explain the Economic classification of budget.

Q4) Explain the vertical imbalance in distribution resources between centre and
state government. [20]

OR
Critically evaluate the Indian tax system.

PT.O.



Q5) Write short notes (any four) :

3)
b)
c)
d)
e)
f)

Merit Goods.

Teibout model.

Exess burden of taxes.
Sources of public debt.
Principles of federal finance

Merit of Indirect Taxes.

2

[4704] Ext. - 12 2

[20]



Total No. of Questions : 5]

P2603

[4704] Ext. - 12
ML.A. (Part - I) (External)
ECONOMICS
Public Economics | & 11

(2013 Pattern)
(WS TaTR)

de : 3 ard] [Tgpor 7or: 100
gEar :— 1)  gd gvT qislan Jravasd SiE.

2) ITHIHSIT ik QU JuT FIIfAAra.
3) IR AWHI T geygg HE@THIA.
4)  dgutarst ge s7 IvT giAwT ugTai.

797 1)

797 2)

797 3)

v 4)

O FUTSTSAaEdder JTEATe TRt U8 . [20]
foRan
TrIIETo T ATAST(-eh TEHTS [eaT ARTU TaFet AT Hefiel ArTe™ ¥08 .

AT Wil AT AT AT Tgel T8 . [20]
e

T ATHRRAT FACTLTHAT FEIRIUT TAY Tl

ATaA(eh heAral TATaATE! GEIhIUT T8 . [20]
e

TSI TEUTH 1T ? ATk ATk fientut Ta8 .

%y 9 TSIETRR Aol HETeATean S faaeTdte stemdrer g ww.[20]
Toman
HRATAT FAGeATe SIoRTeHeh JoaATaA .



gy75)  odiswma Gt forgr. (sHvreTdl = Im)

5) o T

7) feg ufwm

F)  HAT ATANTH WR

T) WEAHE wAre wa

3) o o el aw
W) ATHE H O

2

[4704] Ext. - 12 4
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Total No. of Questions : 5] SEAT No. -

P2604 [Total No. of Pages : 4
[4704] Ext. - 13
ML.A. (Part - I) (External)
ECONOMICS
International Trade and International Finance

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answers of the questions should be precise and to the point.

4) Neat diagrams must be drawn wherever necessary.

Q1) Critically examine the Heckscher ohlin theory of International trade. [20]
OR

What is Gross Barter Terms of Trade? Explain the factors at secting Terms
of Trade.

Q2) Explain the features and composition of Global Trade Growth. [20]
OR
Explain in detail the effects of Tariffs.

Q3) What is meant by Disequilibrium in Balance of payments? What are it's

causes? Explain the measures used to correct it? [20]
OR
Explain the objectives and features of foreign Exchange management in
India.
Q4) Explain the factors affecting International Capital Movement. [20]
OR

Explain the achievements and failures of World Bank.

PT.O.



Q5) Write notes on any four of the following :

)
b)
c)
d)
e)
f)

Foreign Direct Investment in Retail Trade.
International finance corporation.

Feature of Eurocurrency.

Recent Devaluations in Indian Rupee.

Intra - Industry Trade.

Merits and Demerits of Net Barter Terms of trade.

2

[4704] Ext. - 13 2

[20]



Total No. of Questions : 5]

P2604

[4704] Ext. - 13
ML.A. (Part - I) (External)
ECONOMICS
International Trade and International Finance
(2013 Pattern)

(TSt TUTAR)

de : 3 ard] [Tgpor 7or: 100
T .~ 1)  &@d gvT qisar.

2) ITEiESIeT 3k guf Jor FIifaara.
3) IW A" T gege HATdId, ATAVT a9 GAH HATHAT HIET.
4)  TFUIETS? gz 5T TIIaiAwT ugTal.

797 1)

797 2)

797 3)

797 4)

THIER 3T T AR SR fagame dereaes afteror w0, [20]

e

T T SHATIRITAT FgUTS 1T ? SATARITATGR TRUTH SHIUTR Ueeh T8 .

TANTTeh SATUR ST St 9 AT T8 &, [20]
e

FeRTd I TRUTTH Afea T8 .

SHATRATATAA HAERATATAT H1d A gl ? @< HRO vt ? a1 goed

OIS ATAA IUTT T . [20]
e

WRATdre faesht faf e saasumaa=h sfeea st afvrssr wam = .

ATAWTH WIETA FATTATIR URUMH THUTR Teeh T8 . [20]
e

AR sfohel I SATIUT 37U TIE AT

3



Fy75) iU TR Aar fergr. [20]
) Torehie URTe 92 Wiha e
) oAy focfa wEmeEe
*) gOEeHTE G
T) WRAN U ATThEeaT HIBTaie Taqea
3) I -IUNT STIR

%) Tieae avg sTaRed uT SATfer g

2

[4704] Ext. - 13 4



Total No. of Questions : 5] SEAT No. -
P2605

[Total No. of Pages : 12
[4704] Ext. - 14
ML.A. (Part - I) (External)
ECONOMICS

Mathematical Economics and Statistical Techniques

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :-

1) Attempt all questions.

2) Figures to the right indicate full marks.

3)  Answers should be precise and to the point.

4) Draw neat diagrams wherever necessary.

5) Use of non-scientific calculator is allowed.

Q1) Solve any one of the following : [20]

a 1) The marginal revenue function of a product is given by
R =5+ 3x — x2. Find the total revenue and average revenue given
that R = 112 when x = 6.

i) Let Marginal revenue = m. Find the total revenue function when
it is known that for zero production there is no revenue. Comment
on the results.

b) A firm produces bread and biscuits and sellsthem at prices of Rs. 5 and

Rs. 3 per Kg. The flour required for a unit of bread is twice that for
biscuits. The supply of flour is sufficient for only 1000 kg of biscuits
per day. Bread requires a special additive unit of which only 400 are
available per day. For biscuits additive units are also required and 700
of them are available per day. Find the production combination for
maximum profit.

PTO.



Q2) Solve any one of the following :

a)

b)

Prove the following results :

) lim xX*-4+3 1
Ix_2x-3 2

2x+3xt 2

DM a3

o lim 2x+1 1
) %2 _3x+4 8
3

_ , p* -8
IV) I|mp%2 0_2 =12

[20]

If afirm faces the marginal cost schedule MC = 180 + 0.3¢? and the
margina revenue schedule is MR = 540 — 0.6¢? and total fixed cost is
Rs. 65 what is the maximum profit it can make?

Q3) Solve any one of the following :
The plan outlay of Rgjasthan for the year 1983-84 is as tabul ated bel ow:

a)

Draw a pie diagram.

Sr. Sector Budget estimates
1 Arg. and alied services 70
2 Cooperation 10
3 Irrigation and Power 200
4 Industries and Mining 35
5 Transport and 40
communication
6 Social services 120
7 Misc. 25
500

[4704] Ext. - 14

[20]



b) Inthefollowing grouped data‘x’ arethe mid points of the classintervals
and ‘c’ isaconstant. If the arithmetic mean of the original distribution
IS 35.84, find its class intervals.

X—C -21|-14|-7 | O 7 14 | 21 | Tota

Frequency | 2 12 |19 | 29 | 20 | 13 | 5 100

Q4) Solve any one of the following : [20]

ad Thefollowing table shows that monthly expenditures of 80 students of
a university on morning breakfast. Calculate the A. Mean, Standard
Deviation, and Coefficient of Variance.

Expenses No. of Students
78-82 2
73-77 6
68-72 7
63-67 12
58-62 18
53-57 13
48-52 9
43-47 7
38-42 4
33-37 2

b) With the given data, find out the most likely marks in Statistics when
marks in Economics are 30.

Economics- 25 28 35 32 31 36 29 38 34 32
Statistics- 43 46 49 41 36 32 31 30 33 39

[4704] Ext. - 14 3



Q5) Solve any four of the following : [20]

a)

b)

C)

d)

f)

Show that 12 X 0 gives a zero matrix.
3 4 2 3

Solve the ssimultaneous equation system 20x + 6y = 500
10x — 2y = 200

A Competitive market has demand schedule p = 610 — 3q and the
supply schedule p = 20 + 2q. Calculate equilibrium price and quantity.

Write a short note on Types of Correlation.

The distribution of age at first marriage of 130 males was as given
below: Calculate the average age.

Age(X) 18 19 20 21 22 23 24 25 26 27 28 29
No.(f) 02 01 04 08 10 12 17 19 18 14 13 12

Write the merits and demerits of Arithmetic mean.

363838
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Total No. of Questions : 5]

P2605
[4704] Ext. - 14
ML.A. (Part - I) (External)
ECONOMICS
Indian Economic Policy and Agricultural Economics
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :-
1) Attempt all questions.

2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.

Q1) Explain the structure and trends of Indias National in come. [20]
OR
Review the Indias economic reforms.

Q2) Explain in detail the Problems of labour market in India. [20]
OR
Explain the role of education, health and gender related issues in social
infrastructure.

Q3) What is Agriculture productivity? Explain the causes of low agriculture
productivity in india. [20]

OR
Explain the role of commercial Banks in Agriculture credit.

Q4) Explain the Agriculture price policy in India [20]
OR
What is organic farming? Explain the present status and future of organic
farmicy.



Q5) Write short notes (any four) :

a)
b)
C)
d)
€)

f)

Food security in india

Agricultural marketing.

Role of NABARD in Agricultura credit.

Financial sector reforms.
SE2 and Agricultural.

Nature of poverty in India

363838

[4704] Ext. - 14 6

[20]



Total No. of Questions : 5]

P2605

[4704] Ext. - 14
ML.A. (Part - I) (External)
ECONOMICS

Indian Economic Policy and Agricultural Economics

(2013 Pattern)
(WS TaTR)

de : 3 ard] [Tgpor 7or: 100
Faqar :— 1)  ad g9 Sravad SiEd.

2) ITEiESIeT 3k guf Jor FIifaara.
3) IR AWHI T geygg HE@THIA.
4) @gylard? ges TSIt IvT TiFST ggTEt.

797 1)

797 2)

97 3)

HRATEAT TEE IUATH A Tl o ToAT faorg . [20]
TeRan
WRATAA SATTH GLURUTAT SATSTam =4,

WRATATA JHSTTRIST 0T Afae T8 &, [20]
e

TraTieTes Uty gl freron, smirg enfor fom smaer gewri=h gitem e

.

It ICATGehdT FEUTS R ? WHRATATA Il IedTaehdl shit STHUATE HIUT TIE
. [20]

e



Ty74) WRATS Vauta fhwa dwee dwor fawe w0
e
dfga ot Tgoet e ? dfga v et snfor witess woe w0,

Fy75)  eewam Gt fogr. (R 9w)
) WRATArr T FIE
q) Vit faght seereen
%) Arargst (NABARD) wiet gauRasardial it
g) fomes gumon
7) fasiw enflew o (SE2) arfin sreft.
) WRATd SigeTe .

363838
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Total No. of Questions : 5]

P2605
[4704] Ext. - 14
ML.A. (Part - I) (External)
ECONOMICS
Labour Economics and Industrial Economics
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :-
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answers should be precise and to the point.

Q1) Explain the characteristics of Indian labour Market. [20]
OR
Explain the Theory of collective Bargaining of wages.

Q2) State the causes of Industrial disputes and explain the mechanism of their
settlement. [20]

OR
Explain the problems and policy of female worker'sin India

Q3) Explain the scope, need and significance of study of industrial Economics.
[20]

OR

Explain the role of state Industrial Development corporations for balanced
regional development.

Q4) State the causes of Low Industrial Productivity and Efficiency in India.[20]
OR
Explain the sources of Industria finance..



Q5) Write short notes on (any four) : [20]
a Labour turnover.
b) Labour in Un organisation sector.
c) Wage policy.
d) Industria Policy - 1991
e) Foreign capital.
f)  Role of Multi-National Companees. (MNCs).

L

[4704] Ext. - 14 10



Total No. of Questions : 5]

P2605
[4704] Ext. - 14
ML.A. (Part - I) (External)
ECONOMICS
Labour Economics and Industrial Economics
(2013 Pattern)

(TSt TUTAR)

gz : 3 ard| [Tgpor 7or: 100
gaar:— 1) @ gv7 qizal.

2) IwHIEHSIT 37 FIATE QU YOT FIAard.

3) IR AWHI T geygg HE@THIA.

4)  aFHIETST Hor ST T9T TiHAFT TTETA.

gy 1) ARAE 9| SRre ST afeeR Ty . [20]
feman

g7 2) SAteiireh hellgrel RO W, ° Sdifieh shelg @iefauarsh Feon g . [20]
e
HRATAA TEAT HERTRIEIT 0T 9 SR0T T8 .

gy 3) eiefies srefvmamean ATl ST, TRA T HEed T h. [20]

TeRar

11



97 4) ARATde s ScdTgehdl @ AT il SIHUATE HIOl T, [20]
TeRar
3iTeEniTeh fayRaea™ &a / ARt TUE &

797 5) diseama dar fogr. (e 9 w) [20]
) M IATEA.
) UM ST TR,
*) A L.
T)  aitefies o - 1991,
3) faeeft wisaa.
W) SgUEE wHuvare e

363838
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SEAT No. :
[Total No. of Pages : 8

Total No. of Questions : 5]

P4702 [4704]-Ext.-14A
ML.A. (Part-I)
ECONOMICS
Agricultural Economics & Industrial Economics (145)
(External-2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  Attempt all questions.
2)  Figures to the right indicates full marks.

3)  Answer should be precise and to the point.

Q1) Give abriefaccount of trends in agricultural productivity in India since 1991.

State the measures used by government to improve the agricultural productivity.
[20]

OR

Discuss the features of National Employment Warantee Scheme.

02) Describe the problems of agricultural marketing in India. Suggest the measures
to eliminate these problems. [20]

OR

Explain the role of Bio-technology and organic farming in sustainable agriculture.

03) Explain the role and problems of public sector in India. [20]

OR

Critically examine Weber’s theory of Industrial Location.

PTO.



04) Explain in detail the factors influencing Industrial Productivity.

OR

[20]

Critically evaluate the role of Multinational Corporations in Indian economy.

05) Write short notes Any Four:

a)
b)
c)
d)
e)
f)

Role of cooperative credit in agriculture.
Problems of NABARD.

Problems of Foreign Capital.

Sources of Industrial Finance.

Problems of regional industrial imbalance.

Importance of processing of farm product.

[4704]-Ext.-14A 2

[20]



Total No. of Questions : 5]

P4702

[4704]-Ext.-14A
M.A. (Part-I)
ECONOMICS

Agricultural Economics & Industrial Economics (145)

dz: 3 arq)

o .- 1)
2
3)
4)

(External-2013 Pattern)
(TSt wUTR)

[TFHIT 72 100
T T SATAVAE TG
ITAIHEIT 37k Gl T FIAATA.
I F7H! T YeqT HETEIA.

gg7 1) 1991 UTHT WRATHA It ScuTgehd=al TG ofigaTd ATeTan sat. et
STUTEHAT TTSTATATATS! TR ATl SUTIA ST T [20]

feRar

T AT e STt T .

97 2) HRATATS el T soeed=ar THE quiH ohl. 1 hHl uaTdre! 3uT

g, [20]
feran
IYEd Al SedaE o dfga vl giterr wae w0,

T¥73) WRATAIA HTET(-eh SETeT YUkt o THET T &, [20]

feRar

Sitenfires TorfAeiteRtuT=n Jev=an g denredes aiteror o,



gy 4) SNl Scurgehtar TNuTH U T2 Hieal T8 . [20]
e

¥y7 5) ogeTd dut fergr. (Suread 9mr) [20]
) FEHW UaqIEsATH! A tHeie qiHent.
) ATETSE GHET.
%)  WfRT HISSCTTAT T,
g) il fom-gasar &,
3) TGN STENRIeh SEHa T THET.
W) IITHT fshaT ST HEed.

[4704]-Ext.-14A



Total No. of Questions : 5]

P4702 [4704]-Ext.-14A

ML.A. (Part-I)
ECONOMICS
Indian Economic Policy and Labour Economics (146)
(External-2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.

Q1) Comment on the recent debates on poverty and inequality in India. [20]
OR

Give the brief outline of strategy of government of India regarding globalizing
the Indian Agriculture. [20]

02) Explain in brief the gove’s strategy about social infrastructure in India since

1991. [20]
OR
Compare the growth of Industrial sector in pre and post reform period in
India.
03) Explain the scope and importance of labour economics. [20]

OR

Explain the recent trends of Labour Migration and its effects on labour and
Industrial Sector.



04) Explain in briefthe Child Labour Policy in India. [20]

OR

Explain the causes of Industrial disputes. Explain the settlement mechanisam
of industrial disputes in India.

05) Write short notes (Any Four): [20]
a) Problems of financial inclusion in India.
b) Recent trends of Monetary Policy of RBI.
c) Progress of disinvestment since 1991.
d) Features of Wage Policy in India.
e) Organised sector and wage determination.
f)  Current trends in collective bargaining in India.

[4704]-Ext.-14A 6



Total No. of Questions : 5]

P4702

[4704]-Ext.-14A
M.A. (Part-I)
ECONOMICS

Indian Economic Policy and Labour Economics (146)

(External-2013 Pattern)

(TS ETUTR)
gz 3 arq] [TFT 79T 100
oA - 1) §F 9T HEVIE HTEA.
2) IR 3 gut JuT FIAATa.
3) IW AW T egg HATHIA.
4) TGUIAIS g A GITIIHST TgTEl.
g7 [) WRATHA qINGA o fOuHdealicl A Thesdl HBTdIe a1g—[aarger. Wie
. [20]
TeRan
AR S8 ARTThIeUTHE T AT SRR St ATSeraTd SOt
.
g¥72) 1991 UTEH HRATH T WTHTRTeR UTETY Graamaset TR sgetaT e
T . [20]
TeRan
WRATHA GURUMYS o GURUMHAEAT RIS STEieh Srarean gefe
TAT .
Ty7 3) A AAVTET=N TG I Wged TS . [20]
e

T TIAT ATARIA TRt 0T el SR 9 fienfires femadier
YRUTH T &T.



97 4) WRATAI SRR SNUT ATSHRITd TISC <. [20]
e

SATENTTeR TheTgTeil hIUT TUSE T, TRATA I ST Thelg TUTINT 0T
e H.

¥y7 5) ogeTd dut fergr. (Suread umr) [20]
) WRATd foriar TaTayTehd=aT au.
q) AR fgrd STohean Teriauas SRUTH A STferehdia Ja.
®) 1991 urg=t Fjaauhdie Taw.
) WRATd aaq STt afvree.
3) EEd e AT dad faeior
%) WRATAIA STEIeh HIgT saeeadiel e T,

[4704]-Ext.-14A



Total No. of Questions : 5] SEAT No. -

P2606 [Total No. of Pages : 4
[4704] Ext. - 21
ML.A. (Part - II) (External)
ECONOMICS
Macro Economics - 1 and Il
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :-
1)  All questions are compulsory

2) Figures to the right indicate full marks.
3) Answer should be precise and to the point.

Q1) Explain the relation between measurement of national income and saving,
investment, Government expenditure, Taxes, import and exports. [20]
OR

Distinguish between potential output and actual output.

Q2) Explain the optimum policy-Mix with the help of IS-LM model. [20]
OR
Explain in detail Real Business cycle Theory.

Q3) Describe the components of money stock in India. [20]
OR
Examine Neo-classical theory of demand for money.

Q4) What is phillips curve? Explain the shifting of phillips curve in the long
run. [20]

OR
Discuss the role of interest rates in macro economy.

PT.O.



Q5) Write short notes (any four) : [20]
a) Disposable income and consumption expenditure.
b) Neutrality of money.
c) Derivation of IS curve.
d) Reddy committee Report.
e) Baumol - Tobin Theory.
f)  Taylor Rule.

2

[4704] Ext. - 21 2



Total No. of Questions : 5]

P2606

[4704] Ext. - 21
M.A. (Part - II) (External)
ECONOMICS
Macro Economics - I and Il

(2013 Pattern)
(WS TaTR)

de : 3 ard] [Tgpor 7or: 100
gear i~ 1) @ geT HAfFard g,

2) IwEIESIT i TP GOl YOT FIifaard.
3) IR AWHI T geygg HE@THIA.
4)  dgutarst ge s7 IvT giAwT ugTai.

797 1)

97 2)

797 3)

O, adueh, TER @€, W, | 9 fFata enfor ue Scoame W
qmEiier ey TIY . [20]

femar

IUART ICUTEH o aRAd IcATE TTHEE Wleh TIE il

ISa LM ahi=at Uea™ udid 9RuT SiusE T8 . [20]
e

TRAS ATIR oeh Rgia il T8 &,

WRATATA THT ATSATSAT Ueehial qUIH . [20]
e
T9TT=AT HTTUaT AaaATaq frgrare afteror .



g74) el ash wgus wa ? fheltod awhTet SEhTela Tl Y .

Tepant
T fATEAAN TG qfHehell Tl ol

gg75) e dun T (Rl =)
) THYE IO G SUNRT T,
q) OITe qewddn
*) IS TeRre Ff
3) & wfidren srgare
3) SEAE-dEE fag
w) TowEn HEm

363838

[4704] Ext. - 21 4

[20]
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Total No. of Questions : 5] SEAT No. -

P2607 [Total No. of Pages : 4
[4704] Ext. - 22
ML.A. (Part - II) (External)
ECONOMICS
Growth and Development - I and 11
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :
1) All questions are compulsory

2) Figures to the right indicate full marks.
3) Answers should be precised and to the point.

Q1) Whatis less developed countries? Explain the characteristics of lessdeveloped
countries. [20]

OR
What is poverty? State the problems of measurement of poverty.

Q2) Evaluate the solow's model of Economic growth. [20]
OR
Critically examine the theory of demographic transition.

Q3) Explain the role of Agriculture in Economic development. [20]
OR
What is monetary policy? Explain the objectives of the monetary policy.

Q4) 'Trade as an engine of growth’ comment. [20]

OR
Explain the role of government in the developmental process.

PT.O.



Q5) Write short notes (any four) : [20]
a) Indicators of Growth.
b) Income Inequality is a obstacle in Economic Development.
c) Causes of Rural migration.
d) Disguised unemployment.
e) Inflation and Growth.
f)  Objectives of world Bank.

2
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[4704] Ext. - 22
M.A. (Part - II) (External)
ECONOMICS
Growth and Development - I and 11
(2013 Pattern)

(TSt TUTAR)

[zzeor 707 : 100

@d g7 FSlav sravaes .
FTAIHSIT Sk TP GO JOT FIAAra.
IR A7H! T Gegg AT

gy7l)  reufaREld 91 WU HTE ? STeuidehdia JuTel IfTE T W

femar

TG TEUS h1E ? qTRG ATIATA A TRET |,

gy72)  arieeR ggiean Al IiaHET GeaHTaA .

feRart

gy73)  enfdew famrema vl i woe w0

TAAATITTR 0T TgURST i ? Taugeh U=l (a8 Tq8 .

feRart

[20]

[20]

[20]



gg74) ‘eumr g e g s e’ wrs WL [20]
e
forepmer afshadier sTTEmT=t iRt T .

gg75) e dun T (Rl =) [20]
1) I frdern
F) il feermardter Scaa feramar e s,
®) UTHIOT TYATARTE RO
) Ued dl.
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W) WNTdeh skl e
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P2608 [Total No. of Pages : 4
[4704] Ext. - 23
ML.A. (Part - II) (External)
ECONOMICS
403 : Modern Banking and Research Methodology
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :-
1) All questions are compulsory

2) Figures to the right indicate full marks.
3) Answer should be precised and to the point.

Q1) Explain the functions of financial system. [20]
OR
State the functions of modern banks in India.

Q2) Explain the nature and types of Non-banking Financial Institutions in India.
[20]

OR
Explain the recent trends in exchange rate and its impact on Indian Economy.

Q3) What is research? Explain the types of research. [20]
OR
What is Hypothesis? Explain the importance of hypothesis in research.

Q4) Explain the measures of central tendencies. [20]

OR
Explain the stages of report writing.

PT.O.



Q5) Write short notes (any four) :

3)
b)
c)
d)
e)
f)

Balance sheet of commercial Bank.

Features of Indian money market.
Provident fund.

Importance of social research.
Testing of Hypothesis.

Merits of mode.

2

[4704] Ext. - 23 2

[20]



Total No. of Questions : 5]

P2608
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M.A. (Part - II) (External)
ECONOMICS

403 : Modern Banking and Research Methodology

(2013 Pattern)

(FTET wUTAR)
de : 3 ard] [Tgpor 7or: 100
gear i~ 1) @ geT HAfFard g,
2) IwEIESIT i TP GOl YOT FIifaard.
3) IR AWHI T geygg HE@THIA.
4)  @gutars? ge sE gvT gfwT ggTe,
gy7l) feia wonell wE e w0 [20]
e
Ty72)  WRATAT sehad foeiiar Geaiel Ty ATiiT Tehl T8 . [20]
e

T gudier sifotehdiar Tadt @ T WA JTeeaatda’icl UNUuITH T8 .

gy73)  EYA WU h1d ? GINYATS YRR Y . [20]

feRart
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gg74)  ohea TR AUtk TUE .

ITFATA AT TE=aT TIY .

Fy75)  eewam Gt fogr. (R 9w)
) TAUR TheT aTBET.
¥) URdE AoETREl afre.
%) wfas frafg fFef.
g) WIS |IEAT™ HEed.
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P2609 [Total No. of Pages : 12
[4704] Ext. - 24
ML.A. (Part - II) (External)
ECONOMICS
Demography and Rural Development.
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :-
1) Attempt all questions.

2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.

Q1) Explain the nature and scope of demography. [20]
OR
Critically examine the Theory of demographic transition.

Q2) What isfertility? Explain the factors affecting fertility rate. [20]
OR
Describe the various trends in internal migration in India

Q3) Explain the features and structure of rural Economy of India [20]
OR
Comment on the role of NABARD in rural credit since - 1991.

Q4) Explainthe problem of rural unemployment. and givethe causesand remedia
measures for elimination of rural unemployment. [20]

OR
Critically evauate the role of IRDP in rura Development.

PT.O.



Q5) Write short notes on (any four) : [20]
a Growth of world population since - 1991.
b) Biological Theories of population.
c) Infant mortality in India
d) Trendsin Indids cropping pattern.
€e) Need of women Empowerment.

f)  Remedies against rural migration.

2
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ECONOMICS
Demography and Rural Development.
(2013 Pattern)

(TSt TUTAR)

de : 3 ard] [Tgpor 7or: 100
T .~ 1)  &@d gvT qisar.

2) ITHImSIeT 37 TYATR QUf T FIfAAra.
3) IR AWHI T geygg HE@THIA.
4) @gylard? ges s YT TiFHT UTE.

797 1)

797 2)

797 3)

HAREAEIT TS T&6Y 9 STH T . [20]
feman

TG TEUN T ? FAEIeR URUTH HIUMR Ueeh TIE . [20]
e
WRATA A it Tereadrean fafas vext favg wa.

WRATT ATHIOT stefearawert AT 9 Sfvrss Ty . [20]
e

1991 urgmeanr amareeat (NABARD) Imior ua qRaedrdiel qiHehar WIS
.
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gy74) WO SNSRI THET WY H. ST AT SRR ®wRet 9@ o v

FRUTTATS! IUTA AISHT AT, [20]
e
TehTieheh TTHTOT ferehTa shTeishT= UTHtoT fereRmaTdiet yftehar Sehtersh Teammaur
AT
gy75)  orewmE dur foaE. (FveETd 9r) [20]

31) 1991 utgA SRTiehr AThHEAT g,
) crREEEdn Afaw fagea.

®) WHRATA aT T,

T) ORdAE Wik WA Tt

3) TfEET WeTHIhTuT= TR,

F) ATHOT AT g SUT AN
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[4704] Ext. - 24
ML.A. (Part - II) (External)
ECONOMICS
World Economy and Economics of Environment
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :-
1) Attempt all questions.

2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.

Q1) Explain in detall the effects of Globalization on Indian Economy. [20]
OR

State the objectives and role of South Asian Association For Reginal
Co-operation (SAARC).

Q2) Explain the impact of U.S. Debt crisis on Indian Economy. [20]
OR
Explain the Impact of Globalization on Soviet Union Economy.

Q3) Explain the Impact of environment degradation on sustainable development.
[20]

OR

Explain the effects of Industrial development on water and Air pollution in
India.

Q4) State the objectives and function's of pollution control Boards of India.[20]

OR
Explain in detail the concept of Natural farming.

5 PT.O.



Q5) Write short notes on (any four) :

a)
b)
C)
d)
€)

f)

Role of BRICS.
Features of Global Economy.

Eastern Europe a transition economy.

Environment Management Techniques.

Bio-diversity.

Socia forestry.

363838
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ECONOMICS
World Economy and Economics of Environment

(2013 Pattern)
(WS TaTR)

de : 3 ard] [Tgpor 7or: 100
T .~ 1)  &@d gvT qisar.

2) ITEiESIeT 3k guf Jor FIifaara.
3) IR AWHI T gEYg HG@A.
4) @gylard? ges TSIt IvT TiFST ggTEt.

797 1)

797 2)

797 3)

ATTereheRtue AR steferawdaiicl afturmm afeay Tag =, [20]
e
areh =t (SAARC) sfesea sifor et @i,

AT el HeheTal WA STefeaaedeiict THTd TIY . [20]
e

TR IeRTuTTeT IR stderawdadiclt T9T TIY .

gaterur grETen feRad fasmrada a9ra Ty . [20]
e
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[4704] Ext. - 24
ML.A. (Part - II) (External)
ECONOMICS
Economics of Finance and Econometrics
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :-
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Answers should be precise and to the point.
4) Draw neat diagrams wherever necessary.
5) Use of non-scientific calculator is allowed.

Q1) Solve any one of the Following : [20]
ad Explain the role of financial sector in an Economy and state the
differences between Debt Market, Equity Market and Financial Service
Markets.
b) State the structure of financial system and explain the role of hedgers
and speculators in future markets.

Q2) Answer the following question. (Any one) : [20]
a) State the concept of Capital asset Pricing and explain the relation with
the Capital asset Pricing Model.

b) Explainindetall thetypesof financia instrumentsand How thefinancial
system is regulated?

Q3) Answer the following question. (Any one) : [20]
ad  What is Econometrics? Elucidate the scope of econometricswith suitable
examples.
b) Define the following terms:
)  Standard Error i) R’and R?
i) Partial R? iv) Test of stability
v) Degrees of freedom vi) Analysis of variance

9 PTO.



Q4) Answer the following question. (Any one) : [20]

a)  The net investment function of the economy is| =3, + B,R + u. Where
‘I' denotes investment, R denotes the interest rate and 3, and 3, are the
unknown parameters of the investment function. Construct a scatter
diagram from the observation and establish the investment function
from the following data.

Sr. Rate of Interest = (R. %) Investment (1) Y

X

1 6 9.0

2 7 5.5

3 6 8.0

4 8 4.0

5 9 3.5

6 10 2.5

7 8 3.0

8 10 1.5

9 12 1.2

10 11 1.8

11 13 1.5
b) Definemulticollinearity and Statethetypesof it with their consequences.

Q5) Answer the following question. (Any four) : [20]

ad Define derivatives and explain the types of it.

b) Write a note on Swaps.

C) Write a note on Arbitrage Pricing theory.

d) Write a note on dummy variables.

e) What isleast square method?

f)  State the importance of Econometrics.

[4704] Ext. - 24 10
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ECONOMICS
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(2013 Pattern)
(WS TaTR)

de : 3 ard] [Tgpor 7or: 100
T .~ 1)  &@d gvT qisar.

2) ITdImSIeT 3% QUf T FIAATA.
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797 1)

797 2)

97 3)

Trefte JeATe I fogT. (gt ) [20]

A) SreieaRdda fomita et qfteht fawg o oftfun %l aT9R, |AWT
TR AT foriiar | AR Aol Wleh ¥98 0.

¥) foita SR AT ST S @R ST fgem sEmaw it wEaTs
T - AT (WTSTRTT) TR AT T8 .

e Iyt 3T forgr. (uradl ) [20]

) oo oreAe geR afoer s s, anfur foxfa yonefier s w5
3aara d \feear forar.

WA TeAT= IR forgn. (Shiordt o) [20]
3r)  SredfHel TEUTH T A WA T AT SIATH ISTEUMEE TIY .
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q) WTeltd SEAn .

) s i) Reand R?
iii) Partial R? iv) ferash aden
V) =T g (The) Vi) Variance =t ey
gy74)  @refier g 3w ferEr. (v Tew) [20]
&) refegeddtel freae faeus wem geemm ey, | = B+ BR + u.

‘I ot aaus, R e =R, B 9 P, 7 TAauh werTdtel ArEa
TOAA UeHh ARA. ATaEA [OERee AT wiel. AT @iet feeteat

HTHSTRITEA AU el aar’ .
Sr. Rate of Interest = (R. %) Investment (1) Y
X
1 6 9.0
2 7 5.5
3 6 8.0
4 8 4.0
5 9 3.5
6 10 2.5
7 8 3.0
8 10 1.5
9 12 1.2
10 11 1.8
11 13 1.5

) Wg 9g W Ugdrl SArET o @ TR 9 @il TRumE |9i.

gy75) el g S R, (Fved T mr) [20]
) AgT T SATEAT T AN T ThR TAEE AT
¥) foxfa sreemEeaer du o
®) wetony fohma fagrarar du o
)  uTHt wrerer A ferar.

3) ToRAT Eiugdt U & ?
w) eredfudt = wgea @i,
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